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What is the full form of NIA? a
a)  National | b)  Northern | ¢) North | d)  National .

o o . National
Investigating | Investigation | Indian Agency | Internal .
Agency Agency Agency Investigating

Agency
Who is the Consecutive Champion of Formula One in 2021, 2022
a
and 20237
a) Max | b) Lewis | ¢) Nico | d) Sebastian Max
Verstappen Hamilton Rosberg Vettel Verstappen
Which country is the only country to land on south pole of the
Moon? d
a) USA | b) UK | ¢) EU | d) India India
Ayurvedic Science is d
a) Pseudo | b) Medical | ¢) Hindu | d) Para
Science Science Indigenous Medical
Knowledge Science Para Medical
system of Science
health and
medicine
International Democrats Union is an organization of b
2) . Labor b) L An [ ©) .. @ d) . %1 An affiliation
Organization | affiliation of | organization democratic .
. . . of the right
the right wing | under UNO socialist . .
o o wing political
political organization .
. parties of the
parties of the
world
world
Darien Gap is situated in which country c
a) Panama b) Colombia c) Both parts | d) Mexico Both parts of
of Colombia Colombia and
and Panama Panama
Find out the grammatically incorrect part of the sentence:
d
He as well as you is tired of this long and troublesome affair.
a) He as well | b) this long c) and | d) No error No error
as you troublesome
affair
Use the most suitable form of Infinitive /Gerund in the following
sentence:
b
The carpet needs ............. before we use it.
a) to clean b) cleaning c) to be|d) have to cleaning
cleaned clean
Change the speech of the following sentence: c
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He said to the interviewer, “could you please repeat the question?”’

a) He | b) He | ¢) He | d) He | He requested
requested the | requested the | requested the | requested the | the interviewer
interviewer if | interviewer to | interviewer to | interviewer if | to repeat the
he could | please repeat | repeat the | he could repeat | question.
please repeat | the question. | question. the question.
the question.
10 | Fill in the proper form of verbs given in the brackets:
My brother made me ........... (promise) for providing shelter to b
his children.
a) promised b) promise c) have | d) has promise
promised promised
11 | Match the Synonyms of the following keywords:
A. Audacity i. jeopardy a
B. Decipher ii. placid
C. Tranquil 1ii. arrogance
D. Peril iv. decode
a) A-iii; B-iv; | b) A-i; B-iv; | ¢) A-ii; B-i; C- | d) A-iv; B-iii; | A:iii; B:iv; C:
C-ii; D-1 C-iii; D-ii iv; D-iii C-i; D-ii ii; D: i
12 | Who was called the father of the Indian Unrest by the British? b
a) MK Gandhi | b)B. G Tilak c)Motilal d)'Bhagat B. G Tilak
Nehru Singh
13 | Which of the following state is largest by area in India?
a
a) Rajasthan b) Sikkim c) Andhra | d) Madhya
Pradesh Pradesh Rajasthan
14 | In which year incident of Jallianwala Bagh took place? b
a)1911 | b) 1919 | ¢) 1921 | d) 1932 1919
15 | Which of the following is the largest mountain in the world? c
a) Mount | b) Mount | ¢) Mauna Loa | d) Mount
- . Mauna Loa
Lamlam Kilimanjaro Everest
16 | Who used Dalit word for the first time? a
a)Jyotiba M. K Gandhi | ¢)B. Tilak d M. M
Phule Malviya Jyotiba Phule
17 | An angle of 98%is angle. b)
a) reflex b) obtuse c) right d) acute obtuse
18 | For the given numbers 24, 14, 17, 14, 25, 20, 12
A. Mode is 14
B. Median is 17 a)
C.Mean is 19

D. Average is 18




a)A,Band D | b)A,Band C|c)B,Cand D |d) A, Cand D | A, Band D are
are true are true are true are true true
19 | Assertion: The ratio 5:3 is written as 5/3.
a)
Justification: A ratio is treated as fraction.
a) Both | b) Assertion is | ¢) Assertion is | d) Assertion is
assertion and | true but | true but | false but | Both assertion
justification justification is | justification is | justification is and
are true not the | false true justification
explanation of are true
assertion
20 | If North is replaced by Southeast, then West will be replaced by? d)
a) East | b) South | ¢) Northwest | d) Northeast Northeast
21 | Which of the following is the study of extinct culture? d
a) Ethnology | b) ' c) Etymology | d) Archeology Archeology
Epistemology
22 | Match the following.

A Classical Archeology I Text Free

B Historical Archeology Ii Text Aided ¢

C Proto Historic Archeology | lii Advanced Text Aided

D Prehistoric Archeology Iv Undeciphered Text
a) Aii b) Ai C) Aii d) Ai A
Biv B iii B iii B ii B iii
Ciii Civ Civ Ciii C
Di Dii Di D iv v

Di

23 | Which one of the following statement is true?
A Archeology is obsolete now as we are now in Al era
B Stone tool study in archeology is not necessary as there’s the

d
concept of CRM now
C Study from the Neolithic Period is enough in Archeology
D Bow and Arrow appeared during the Upper Paleolithic Period
a)Aiscorrect | b) Both Aand |c) All are |d)Dis correct .
D is correct
B are correct | correct

24 | A: Assertion: Today, archeology is not confined to stone tools study

only
a
B: Justification: Archeology is a vast domain and it has various
branches.
a) Both A and | b) Both A and C)Als rightbut | d) B is right Both A and B
B are correct | B are correct | B is wrong but A is wrong
i . are correct and

and B is the | but B is not the . .

: : B is the right
right right justification of
justification of | justification of ]

A
A A
25 | The first domesticated animal by man was? d
a) Horse | b) Cow | ¢) Cat | d) Dog Dog
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26 | Find out the false statement
A Microlith was found everywhere
B Hoa Bin was the site without microliths a
C South East Asian countries had no microlithic culture
D Hoa Bin is situated in Vietnam
a)A b) B c)C d)D A
27 | A: Assertion: Knowledge of chemistry is required in archeology
B: Justification: Radio Carbon dating method is borrowed from a
chemistry
a) Both A and | b) Both A and | ¢) Aisrightbut | d) B is right
B are correct | B are correct | B is wrong but A is wrong a]?;)gz)ﬁeﬁifd
and B is the | but B is not the . .
right right .B 'S the ! ight
justification of | justification of Just1ﬁczt1on of
A A
28 | Alpha particles have important role in Cc
a) Radio | b) Fluorine | ¢) Fission | d) Paleo Fission Track
Carbon Dating | Test Track Dating | magnetic :
dating Dating
29 | Which of the following statement is false?
A Archeology studies extinct culture
B Archeology studies present culture a
C Archeology studies fossils
D Archeology studies stone tools
a)A b) B c)C d)D A
30 | A: Study of Holocene culture is sufficient in Archeological
Anthropology
B: Justification: When Archeological Anthropology works as part a
of Anthropology, and not as an independent subject, to know the
present culture, study of Holocene culture with reference to Homo
Sapiens is enough
a) Both A and | b) Both A and | ¢c)Aisrightbut | d) B is right
B are correct | B are correct | B is wrong but A is wrong a]?e(:)t:}z)ﬁeir‘ifd
and B is the | but B is not the . .
right right .B 'S the ! ight
justification of | justification of Justlﬁcztlon of
A A
31 | A rthythm of several glaicial advances over Eurasia and America a
was the making of
a) Pleistocene | b) Holocene | ¢) Chalcolithic | d) Neolithic Pleistocene
32 | Find out the true statement
a

A Cultural Resource Management is the applied branch of
Archeology




B Cultural Resource Management is the applied branch of

Anthropology

C Cultural Resource Management is the applied branch of History
D Cultural Resource Management is the applied branch of Social
and Archeological Anthropology

a)A b)B c)C d)D A
33 | The limitation of Potassium Argon dating is Cc
a) o No b) ‘ Fundlng c) It requires Fl) It is possible It requires
limitation limitation volcanic ash in desert areas .
volcanic ash
only
34 | A special kind of in situ weathering of rocks in the tropical a
countries are called
a) Laterization | b) Detritus ¢) Morains d) Rock o
. Laterization
formation
35 | Match the following
A Microliths I Mesolithic Period
B Bone Tools Ii Upper Paleolithic Period a
C Handaxe Iii Lower Paleolithic Period
D Grinding and Polishing Tools | Iv Neolithic Period
a)Ai b) Aii c)Ai d)Aii A
B ii Biv B iii B iii Bii
Ciii Ciii Civ Civ Ciii
Div Di Dii Di .
Div
36 | Find out the true statement
A Development Anthropology is the applied form of archeology
B Museum study is related to archeology b
C Medical Anthropology is related to archeology
D Ecological Anthropology is related to Archeology
a)A b) B c)D d)C B
37 | A: Assertion: Relative Dating is useless
B: Justification: Relative Dating provides a relative uncertain age a
only
a) Both A and | b) Both A and | ¢c)Aisrightbut | d) B is right | Both Aand B
B are correct | B are correct | B is wrong but A is wrong | are correct and
and B is the | but B is not the B is the right
right right justification of
justification of | justification of A
A A
38 | The emergence of megaceror giganteus marks the period c
a) Lower | b) Middle | c) Upper | d) Post Upper
Pleistocene Pleistocene Pleistocene Pleistocene Pleistocene
39 | Which of the following statement is true? a




A Eastern Europe didn’t have handaxe

B Handaxe was universal tool

C Eastern Europe had handaxes

D Eastern Europe was the home to handaxes

a)A b) D c)B d)C A
40 | The emergence of Hippopotamus was witnessed in Cc
a) Lower | b) Middle | ¢) Upper | d) Post Upper
Pleistocene Pleistocene Pleistocene Pleistocene Pleistocene
41 | Who is the author of the book “The Golden Bough” a
a) Frazer b) Malinowski | ¢) Majumder | d) Tylor Frazer
42 | Who is the author of the book “Primitive Culture” d
a) Frazer b) Malinowski | ¢) Majumder | d) Tylor Tylor
43 | refers to the comparative statements about cultural
and social processes that are based on cross cultural ethnographic a
data in historical perspective.
a) Ethnology | b) c) Polynology | d) Ecology Ethnology
Morphology
44 | The notion of ‘cultural relativism’ is opposed to: b
a) Cultural | b) c) Cultural | d) Cultural
determinism Ethnocentrism | conservatism | instrumentalis .
m Ethnocentrism
45 | Match the following correctly:
A One women having more | i Polyandry
than one husband
B One man having more than | ii Polygyny
two wives a
C One man having one wife | iii Monogamy
D One man having two wives | iv Bigamy
a) A-i, B-ii, C- | b) A: ii, B: iii, | ¢) A: iv, B: ii, | d) A: iii, B: i, C oy e e
iii, D-iv C:iv,D:i C: iii, D: i C: iv, D: ii A, B-ii, C-1ii,
D-1v
46 | A preferential secondary marriage whereby a widower is expected c
to marry his deceased wife’s sister is:
a) Levirate b) Cross | ¢) Sororate d) Sister-in- Sororate
Marriage law marriage
47 | When the relatives are addressed through some medium it is called d
a) exonym \ b) endonym \ ¢) toponym \ d) teknonymy teknonymy
48 | The children of two brothers or of two sisters are among themselves a
called as:
a) ' Parallel | b) ' Cross | ¢) Cousins d) Cousin Parallel
Cousin Cousin Brother or .
. Cousin
Cousin Sister
49 | Give the correct sequence of the following: d




a) Tribe —|b) Tribe —|c) Band -—|d) Band - | Band- Tribe—

Band — | Band — | Chiefdom  — | Tribe — | Chiefdom  —

Chiefdom  — | Chiefdom  — | State — Tribe Chiefdom  — | State

State State State
50 | The family in which an individual is born, reared and socialized is c

known as:

a) Family of |b) Family of |c) Family of |d)Family Family of

Birth Procreation Orientation Orientation
51 | Unilineal descent groups are known as: c

a) clans b) leterine kins | ¢) lineages d) none lineages
52 | ‘Potlach’ is associated with of this community? Cc

a) Trobriand | b) Eskimos c¢) Kwakiutl | d) Red Indians Kwakiutl

Islanders Indians Indians
53 | Shifting cultivation is also known as: b

a) Settled | b) Slash and | c) Terrace | d) All are Slash and

Cultivation Burn Cultivation correct Burn

Cultivation Cultivation

54 | Who gave the theory of Animism? d

a) Durkheim b) Malinowski | ¢) Smith d) Tylor Tylor
55 | Action anthropology has been propounded by? .

a) Boas b) Elwin ¢) Sol Tax d) Haimendorf Sol Tax
56 | The concept of liminality in rituals was introduced by? d

a) Victor b) Edmund | ¢) Clifford | d) Van Gennep

Turner Leach Geertz Van Gennep
57 | Who among the following is associated with the Symbolic aspect

of religion? d

a) Victor b) Marry | c) Clifford | d) All of them All of them

Turner Douglas Geertz
58 | Who is the author of the book ‘The Naked Nagas’? b

a) Varrier | b) Haimendorf | c) Surajit | d) Andre .

Elwin Sinha Bateille Haimendorf
59 | Mode of production that includes gathering of food that is available a

in nature, by gathering, fishing, or hunting

a) Foraging b) Horticulture | c) Pastoralism | d) Agriculture Foraging
60 | Enculturation is process by which b

a) Culture is |b) A child | ¢) A culture is | d) Culture | A child learns

reduced learns his or | transformed becomes his or her

her culture adaptive culture

61 | Who wrote the book “Pattern of culture”? c
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a)Cora Du | b) Margaret | ¢) Ruth | d) Ralph Margaret
Bois Mead Benedict Linton Mead
62 | Who is the proponent of the theory Structuralism? a
a Levi- | b)Mar c) Ruth | d)L. P )
S)trauss Douglzs Benedict V)idyarthi Levi-Strauss
63 | Which part of the language deals with word structure? d
a)Etic b)Overt ¢)Syntax D
) yn M)orphology Morphology
64 | Which part of the language deals with Sentence structure? d
a)Emic b) c¢) Covert d) Syntax
: Morphology o Syntax
65 | The branch of Anthropology which seek to understand the social
and cultural foundation of language in a specific context is called a
as
a) Linguistic | b) Lar}guage c) . 50010— d) Socio- Linguistic
Anthropology | and Society Linguistic cultural Anthropolo
Branch Anthropology POIOEY
66 | The usage of anthropological insights and expertise in the field of
public health and policy making is known as ¢
a)Public health | b) c) Applied | d) Action )
and practice Development | Anthropology | Anthropology Applied
Anthropolo Anthropology
pology
67 | What is the term used for data collected from the field by the d
researcher?
a)Secondar b)Tertia c)Field Data d)Primar .
D)ata ’ D)ata i ) D)ata ’ Primary Data
68 | Who is known as the father of modern Anthropology? a
a)Bronislaw b)Ruth c) Emile | d) N. K Bose Bronislaw
Malinowski Benedict Durkheim Malinowski
69 | A: Assertion: Tribe is one type of political organizations in the
evolution of political system in human society as per Marshal
Sahlins
b
B: Justification: In tribe political formation is primarily based on
kinship bonds and segmentary lineage system
a)Aistruebut |b) A & B is|c) A & B is|d)Noneistrue | A& B is true.
B is false true. B is the | false. Bisnota B is the
correct correct correct
justification justification justification
for A for A for A
70 | When cultural traits and complexes of culture become integrated c
into functional wholes is called as
a) Culture | b) c) Culture | d) Culture Culture
Complex Geographical | Pattern Area Pattern
culture
71 | Which of the following Article talks about the Reservation of Seats b
for STs in Lok Sabha?
a)Art. 337 | b)Art. 330 | 0)Art. 243 | d)Art. 337 Atrt. 330
72 | Which of the following Anthropologist worked among the d

Chenchus of South India?




a) Robert | b)W. H. R |c)D. N|dC. V. F C.V.F
Redfield Rivers Majumdar Haimendorf Haimendorf
73 c
A: Assertion: Ruth Benedict belongs to Culture and Personality
school of thought
B: Justification: The book of Ruth Benedict titled “Chrysanthemum
and Swords” deals with Japanese national character on the basis of
her work amongst small group of Japanese informants imprisoned
in concentrated camp at America during World War IL
a) Aand Bis|b) None is|c) A & B is|d)Aistrue but A& B is
correct. B is | correct correct. B is | B false correct. B is
not a correct the correct the correct
justification justification justification
for A for A for A
74 | Under which article special provision of educational and economic d
interest of the STs are given in constitution?
a) Art. 25 | b) Art. 14 | ¢) Art. 35 | d) Art. 46 Art. 46
75 | The geographical regions that display internal cultural similarities b
is called as
a) Culture trait | b) Culture | ¢) Culture | d) None Culture Area
Area Complex
76 | What is the term used for Insider’s View of Culture? b
a) b) Emic c)Etic d) Eido Emic
Autonomous
Culture
77 | Who contributed immensely in the field of village studies? c
a)T. K | b)E. B Tylor ¢)S. C Dube d)Edmund S. C Dube
Penniman Leach
78 | The term used to refer to creation of new group or tribal identity is a
called as
a) b) Ethos c)Eido d) Ethnogenesis
Ethnogenesis
79 | Who wrote the book “System of Consanguinity and Affinity of c
Human Family”
a)W. J Perry b) Levi Strauss | ¢) L. H | d) E. B Tylor L. H Morgan
Morgan
80 | J.J. Bachofen belongs to which school of thought? c
a) Interpretive | b) Culture and | c) German | d) German
Anthropology | Personality Evolutionary | Structuralism Evolutionary
School School
81 | If one parent is blood type A and the other is type B, which of the d)
following blood types would their offspring likely be?
a)A b) B c)AB d) Any of the Any of the
above above
82 | Match the correct pairs: o)
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A. Blood group O 1. Anti-A
B. Blood group AB ii. Anti-B
C. Blood group B iii. Anti-A and Anti-B
D. Blood group A iv. No Antibodies
a) A-iv; B-iii; | b) A-iv; B-iii; | ¢) A-iii; B-iv; | d) A-iii; B-iv; | A-iii; B-iv; C-
C-i; D-ii C-ii; D-i C-i; D-ii C-ii; D-i i; D-ii
83 | Which of the following is not the correct concept(s) of
Lamarckism?
A. Internal vital forces 5
B. Use and disuse of organs
C. Struggle for existence
D. Inheritance of acquired characters
a) A and C \ b) Band D \ c) only C \ d) only D only C
84 | Assertion: The principle of Darwinism is natural selection.
Justification: Branching descent and natural selection are the two b)
key concepts of Darwinism.
a) both | b) both | ¢) assertion is | d) both | both assertion
assertion and | assertion and | true but | assertion and and
justification justification justification 1is | justification justification
are true and | are true but | false are false are true but
justification is | justification is justification is
the correct | not the correct not the correct
explanation of | explanation of explanation of
the assertation | the assertion the assertion
85 | The ‘fitness’ referred by Darwin for natural selection is a)
a) b) Health ¢) Survival d) Physical Reproductive
Reproductive | fitness fitness fitness fitness
fitness
86 | In human the gene for colour blindness is located in ... 9]
a) b) c) d)
Chromosome | Chromosome | Chromosome | Chromosome Chromosome
X
2 6 X Y
87 | Match the following pairs:
A. Gibbon 1. Indonesia
B. Lemur ii. Africa a)
C. Orangutan 1ii. Southeast Asia
D. Chimpanzee iv. Madagascar
a) A-iii; B-iv; | b) A-iii; B-i; | ¢) A-iii, B-ii; | d) A-iv; B-iii; | A-iii; B-iv; C-
C-1; D-ii C-iv; D-ii C-iv; D-i C-ii; D-1 1; D-ii
88 | Which of the following does not represent correct names of human
races?
A. Caucasoid, Negroid, Mongoloid b)

B. Caucasoid, Australoid, Mongoloid
C. Caucasoid, Negroid, Chinaloid
D. Australoid, Negroid, Chinaloid
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a)Aand B \ b) C and D \ c)only A \ d) only D Cand D
89 | Assertion: Mendel gives the laws of heredity.
c)
Justification: Mendel did not study one character at a time.
a) both | b) both | ¢) assertion is | d) both
assertion and | assertion and | true but | assertion and .
justification justification justification 1is | justification assertion 1s
true but
are true and | are true but | false are false _ .
o S L justification is
justification 1id | justification is false
the not the
explanation of | explanation of
the assertion the assertion
90 | The double helix structure of DNA was discovered by a)
a James | b Gregor | c Charles | d Rosalind
szatson and 1\/)Iendel ¢ D)arwin F)ranklin and James Watspn
: . : and Francis
Francis Crick Maurice Crick
Wilkins
91 | Select the correct sequence. a)
a) Nucleotide |b) DNA —|c¢) d) Gene - Nucleotide —
— DNA — Gene | Nucleotide — | Chromosome | Chromosome DNA — Gene —
— Chromosome | —DNA—Gene |— DNA - Chromosome
Chromosome | — Gene — Nucleotide Nucleotide
92 | Match the following
A. Cervical spine 1. 5 in number
B. Thoracic spine il. 5 in number b)
C. Lumber spine iii. 7 in number
D. Sacrum v. 12 in number
a) A-iv; B-iii; | b) A-iii; B-iv; | ¢) A-ii; B-iv; | d) A-iii; B-i; | A-iii; B-iv; C-
C-ii; D-i C-i; D-ii C-iii; D-i C-ii; D-iv i; D-ii
93 | Which of the following are common characteristic of primates?
A. Having tails
B. Ability to speak C)
C. Having prehensile hands
D. Having opposable thumbs
ia)) A,B,Cand |b)B,CandD |c)CandD d) only D Cand D
94 | Assertion: An additional copy of X chromosome causes Klinefelter
syndrome.
a)
Justification: Aneuploidy occurs from an extra copy of
chromosome.
a) Assertion | b) Assertion | ¢) Assertion is | d) Assertion is | Assertion and
and and true but | false but | justification
justification justification justification is | justification is | are true and
are true and | are true but | false true justification is
justification is | justification is the correct

the correct

not the correct

explanation of
the assertion
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explanation of
the assertion

explanation of
the assertion

95 | How many chromosomes do a human sperm have? b)
a) 22 | b)23 | ¢) 45 | d) 46 23
96 | Cephalic Index is calculated as a)
a)Head b) Head length | ¢) Head | d) Head length
breadth divided by | breadth divided by Hgf‘vﬁggidth
divided by | head breadth | divided by | facial height head len t};l
head  length | multiplies by | facial height | multiplied by multinlic égb
multiplied by | 100 multiplied by | 100 1poo Y
100 100
97 | Match the following.
A. ‘Hope of life’ 1. Australopithecus
B. ‘Millennium man’ ii. Homo habilis d)
C. ‘Southern ape’ iil. OrrorinTugenensis
D. ‘Handy man’ iv. Sahelanthropus Tchadensis
a) A-iv; B-iii; | b) A-iii, B-ii; | ¢) A-iii; B-iv; | d) A-iv; B-iii; | A-iv; B-iii; C-
C-ii; D-1 C-i; D-iv C-1; D-ii C-1; D-ii 1; D-1i
98 | Which of the following is/are not correct for Neandertals?
A. Used hides to cover their body
B. Buried their dead body C)
C. Mostly lived in Africa
D. Their cranial capacity was 1000 cc
a)Aand B b)B and C c)Cand D d)Aand D Cand D
99 | A: Assertion — The sequence of bases of a strand can be predicted
if the sequence of bases of the other strand is known.
a)
B: Justification — Both the strands of DNA are complementary of
each other.
a) Both A and | b) Both A and | ¢) Aistruebut | d) A is false
B are true and | B are true but | B is false but B is true igtgui zrllli];
Bisthe correct | B is not the ‘s the correct
explanation of | correct .
. explanation of
the A explanation of
the A the A
10 | Anteriorly placed foramen magnum is an characteristic of 5
a) Monkey b) Ape ¢) Human d) Primate Human
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